

TANGGAPAN NG KOMANDANTE (OFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area

NOTICE OF AWARD

MS. MARIA JESSEL A. VILLAN
Authorized Representative
DYNAMIC POWER &
MARINE INDUSTRIAL HARDWARE INC.
E.O. Perez St., Subangdaku,
Mandaue City, Cebu

Dear Ms. Villan:

We are happy to notify that your Bid Price for the Supply and Delivery of Main Engine, Auxiliary Engine and Other Auxiliary Machineries Spare Parts Intended for BRP BOJEADOR (AE-46) (Rebidding) amounting to ONE MILLION FIVE HUNDRED SEVENTY-FIVE THOUSAND PESOS (PhP1,575,000.00) is hereby accepted.

Please be reminded to secure and submit the Performance Security to replace your Bid Security in any of the allowable forms of Performance Security provided in Section 39.2 of the 2016 Revised Implementing Rules and Regulations of Republic Act 9184, as amended, to the Coast Guard Procurement Service of the National Headquarters of the Philippine Coast Guard located at 139 25th Street, Port Area, Manila within ten (10) calendar days from receipt of this notice. Failure to provide the Performance Security within the prescribed timeline shall constitute sufficient ground for the cancellation of the approval of the award of the contract, revocation of the issued Notice of Award and forfeiture of the bid security or enforcement of the bid securing declaration.

Please acknowledge receipt and acceptance of this notice by signing both copies of this document in the spaces provided below. Keep one (1) copy and return the other to the Office of the Coast Guard Procurement Service at the National Headquarters Philippine Coast Guard. You may send the duly acknowledged copy of this notice physically at the above-stated address or through electronic mail at procurement@coastguard.gov.ph.

Thank you.

Very truly yours,

CG VICE ADMIRAL LEOPO Commandant, Philippine Co	DLDO V LARO	YAVA			
Conforme:		1			
Name of the Representative Authorized Signature Date:	of the Bidder_	MARIA DEC. 03	JESSEL 1 2021	A.	VILLAN



TANGGAPAN NG KOMANDANTE, (OFFICE OF THE COMMANDANT)

PAMBANSANG PUNONGHIMPILAN TANOD BAYBAYIN NG PILIPINAS (National Headquarters Philippine Coast Guard)

139 25th Street, Port Area 1018 Manila

NOTICE TO PROCEED

MS. MARIA JESSEL A. VILLAN
Authorized Representative
DYNAMIC POWER &
MARINE INDUSTRIAL HARDWARE INC.
E.O. Perez St., Subangdaku,
Mandaue City, Cebu

Dear Ms. Villan:

We are pleased to inform you that the Contract Agreement and Purchase Order for the Supply and Delivery of Main Engine, Auxiliary Engine and Other Auxiliary Machineries Spare Parts Intended for BRP BOJEADOR (AE-46) (Rebidding), that was awarded to you has been signed by the contracting parties.

Thus, we are issuing this Notice to Proceed for you to commence with the Supply and Delivery of Main Engine, Auxiliary Engine and Other Auxiliary Machineries Spare Parts Intended for BRP BOJEADOR (AE-46) (Rebidding) within One Hundred Twenty (120) Calendar Days effective from receipt of this notice at the Coast Guard Procurement Service, National Headquarters of the Philippine Coast Guard 139 25th Street, Port Area Manila, 1018 Manila.

Upon receipt of this notice, you are responsible for performing the supply and delivery of the requirement under the terms and conditions of the **Purchase Order and Contract Agreement**.

You may coordinate with Commander, Coast Guard Surface Support Force (CGSSF), Pier 13, South Harbor, Port Area, Manila with Contact Number: (+63) 945-795-8413 for the specific details of their requirements.

Please acknowledge receipt and acceptance of this notice by signing both copies of this document in the spaces provided below. Keep one (1) copy and return the other to the Office of the Coast Guard Procurement Service at the National Headquarters Philippine Coast Guard. You may send the duly acknowledged copy of this notice physically at the above-stated address or through electronic mail at procurement@coastguard.gov.ph.

Thank you.

Truly yours,

CG ADMIRAL LEOPOLDO V LAROYA
Commandant, Philippine Coast Guard

I acknowledge receipt of this Notice on DEC 31, 2021
Name of the Representative of the Bidder DEC BRICH TWISTO
Authorized Signature

PURCHASE ORDER

PHILIPPINE COAST GUARD Entity Name

SUPPLIER: DYNAMIC POWER & MARINE		PONR PCG-21-12-0047			
INDUSTRIAL HARDWARE INC.		Date: O DECEMBER 2021			
ADDRESS: E.O Perez St., Subangdaku, Mandaue City,		Mode of Procurement: "Competitive Bidding"			
Cebu					
TIN NR.			and the second s		
Gentlemen: Please furnish this office	the following subject to th	ne forms ar	nd conditions cont	ained herein:	
Place of Delivery: Coast Guard St				undred Twenty (120)	
13, South Harbor, Port Area, Manila		Calendar Days effective from receipt of the Notice to Proceed (NTP) Payment Term:			
Supply and Delivery of Mair	Intended for BRP B	ne and Oth OJEADOR	ner Auxiliary Mac R (AE-46) (Rebido	nineries Spare Parts ling)	
ITEM DESCRIPTION	PART NUMBER	QTY	UNIT PRICE	TOTAL PRICE	
Fast Moving Spare parts - Ma	in Engine (Baudouin 6M	126.2-B240)		
Lube Oil Filter	15041680C	40 pcs	1,500.00	60,000.00	
Centrifugal Oil Filter	15049010V	20 pcs	774.00	15,480,00	
Fuel Filter Cartridge	1505063OF	40 pcs	1,512.00	60,480,00	
V-Belt	77705301J	24 pcs	3,240.00	77,760.00	
Ail Filter	15080381T	2 pcs	7,125.00	14,250:00	
Raw/Sea Water Rubber Impeller	150395510T	2 pcs	58,800.00	117,600.00	
O-Ring	77711230D	20 pcs	300.00	6,000,00	
O-Ring	13502200E	20 pcs	2,700.00	54,000,00	
O-Ring	77713400M	20 pcs	720.00	14,400,80	
O-Ring	77713440F	20 pcs	300.00	6,000.00	
O-Ring	77713350H	12 pcs	660.00	7,920.00	
O-Ring	77711980T	12 pcs	210.00	2,520,00	
Critical Spare Parts - Main Engin	e (Baudouin 6M26 - B240)				
Fresh Water Pump Assembly	15531181T	1 pc	154,200.00	154,200,00	
Sea Water Pump Assembly	15531680L	1 pc	253,590.00	253,590.00	
Critical & Fast Moving Spare Par	ts - Auxiliary Engine (Bauc	louin 4W10	5S)		
Raw/Sea Water Rubber Impeller	16200450K	1 pc	110,400.00	110,400.00	
Fresh Water Pump Assembly	16209230D	1 pc	18,000.00	18,000,00	
Raw/Sea Water Rubber Impeller	PITM0001	2 pcs	117,000.00	234,000.00	
O-Ring	77712130G	32 pcs	2,700.00	86,400.09	
Critical & Fast Moving Spare Par	ts - Harbor Generator – DC	NGFENG (CUMMINS 4BT3		
Air Filter Element	AC141104803	2 pcs	12000000		
Lube Oil Filter	LF3345	COE	Commission and American Americ	O TALTICHE	
 Cummins 	3890709		Admin Offic 3,000.00	er. CGPS 60,000.00	
Wix	51602	20 pcs	Angel and special field. At a Warmer of the	TO STANDARD TO THE THE PERSON AND SHOWN THE PROPERTY OF THE PERSON AND THE PERSON	
Baldwin Fuel Filter	B7117		2,500.00	E0 000 00	
i doi i ittoi	FF5052		2,500.00	50,000,00	

	Total C	Contract Price	e in Figures:	PhP1,575,000.00
V-Belt	A-50	10 pcs	6,500.00	65,000.00
Spare Parts for Telescopic	Crane - KATO KTA15A			
Oil Pressure Sensor	39672512IY605413118	1 pc	8,000.00	8,000.00
Flat Belt	32887908PK14	5 pcs	5,000.00	25,000,00
Baldwin	1280			
→ Wix	33357	The state of the s		
Seperator • Cummins	3903410	20 pcs	2,500.00	50,000.00
Fuel Filter With Water	FS1280	Party of the second		
 Baldwin 	7524	And the second s	grand and the second	
Wix	33777	20 pcs	Name of the State	
 Cummins 	3890707			

Total Contract Price in Words: ONE MILLION FIVE HUNDRED SEVENTY-FIVE THOUSAND PESOS ONLY

INSPECTION AND ACCEPTANCE

- The SUPPLIER shall present the brand-new spare parts with an Original Equipment Manufacturer (OEM) Certification to the PCG Authorized representatives
- The SUPPLIER must inform PCG Authorized representatives at least seven (7) days prior to the delivery of goods in delivery place/site.
- The PCG authorized representative shall conduct judicious physical check on the requirement specified above.

WARRANTY PERIOD /COVERAGE OF WARRANTY:

The warranty period of at least three (3) months shall be reckoned from the date of issuance of the certificate of final acceptance. However, if the same defects occurred for two (2) consecutive times within the warranty period on a particular part/item and its attendant part, the warranty period shall be automatically extended based on the warranty period of each goods after the expiration of the original warranty period to ensure that supplies to be delivered can still be satisfactorily used even after one (1) year in stock/storage.

-x-x-x- nothing follows -x-x-x-x-

In case of failure to make the full delivery within the one percent (1%) of the cost of the unperformed port imposed.	time specified above, a penalty of one tenth of (1/10) ion of the contract for every day of delay shall be
	AUTHEN TO TO BY
Very	truly yours,
Conforme:	Haltrih
LET BFLICE FEUBIO	CG ENS ALEJANDRO T ALTICHE
Signature Over Printed Name	CG ADMIRAL LEOPOLDO V LAROYA
	Commandant, Philippine Coast Guard
Date	Authorized Official
Fund Cluster:	ORS/BURS No: 02-101101 - 2021 -12 - 05/50
Funds Available:	Date of the ORS/BURS:
ROGELIO F CAGUIOA Chief Accountant, PCG Signature Over Printed Name of Chief Accountant/ Head of Accounting Division/Unit 2022	Amount: 1,575,000.00